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— PANUELO VELOUR DEGRADE

MATERIALES .
VELOUR DEGRADE: 1 ovillo

Agujas: n° 6

Puntos empleados

P. bobo: todos los p. y todas las vtas. al der.
Aumento: de 1 p. hacer 2 p. (= 1 p. der., sin soltar el
p. de la ag. izquierda volver a hacer otro p. clavando
la ag. derecha por detras del p., soltar.

Menguado: 2 p. juntos der.

MUESTRA DEL PUNTO

Las medidas que se dan son con la muestra sin
planchar.

A p. bobo, ag. n° 6

10x10 cm = 15 p. y 21 vtas.

REALIZACION

Montar 8 p. Trab. a p. bobo, aumentado en el
extremo derecho, en cada final de vta. del revés de
la labor: 72 veces 1 p. (= mitad del ovillo). Quedaran
80 p.

A continuacién menguar en cada inicio de vta. del
derecho de la labor: 72 veces 1 p. Quedaran 8 p.
Cerrar todos los p.

B | FOULARD VELOUR DEGRADE

FOURNITURES 3
Qualité VELOUR DEGRADE : 1 pelote

Aig.:n°6

Points employés

Pt mousse : tric. toutes les m. et tous les rgs a I'end.
Augmentation : tric. 1 m. dans la méme m. (1 m.
end. et, sans la lacher, tric. une autre m. end. en
piquant 'aig. derriére la m., lacher)

Diminution : 2 m. ensemble a I'end.

ECHANTILLON (10 cm x 10 cm)
Mesurer I'’échantillon non repassé.
15 m. et 21 rgs au pt mousse avec les aig. n° 6

REALISATION

Monter 8 m. Tric. au pt mousse, en augmentant 1
m. du c6té droit, a la fin de tous les rgs sur I'env., 72
fois (moitié de la pelote). On obtient 80 m.

Puis diminuer 1 m. au début de chaque rg sur I’end.,
72 fois. Il reste 8 m. Rabattre.

®= VELOUR DEGRADE SCARF

MATERIALS }
VELOUR DEGRADE: 1 ball

Knitting needles: size 10 (U.S.)/(6 mm)

Stitches

Garter st: all stitches and all rows are worked in knit
st.

Increase: make 2 sts from 1 st (= K1, and without
clearing the stitch from the LH needle, work another
stitch by inserting the RH needle through the back of
the stitch, release the st).

Decrease: K2 tog

GAUGE

The measurements are taken without blocking
(pressing) the sample swatch.

Using size 10 needles in garter st:

15 sts & 21 rows = 4x4”

INSTRUCTIONS

Cast on 8 sts. Work in garter st, increasing at the
right side edge, at the end of every wrong side row
as follows: 1 st 72 times (= half of ball of yarn). Total:
80 sts.

Continue by decreasing at the beginning of every
right side row as follows: 1 st 72 times. Total: 8 sts.
Bind (cast off) all the sts.

== HALSDOEK VELOUR DEGRADE

BENODIGD MATERIAAL
VELOUR DEGRADE: 1 bol

Breinaalden: nr. 6

Gebruikte steken

Ribbelsteek: brei in alle naalden, alle st. r.
Meerdering: brei 2 st. in 1 st. (= brei 1 st. r., zonder
deze st. v.d. linkernaald te halen, opnieuw een st.
breien en hierbij de rechternaald insteken aan de
achterkant v.d. st., haal de steken v.d. linkernaald.
Mindering: 2 st. samen r. breien

STEEKVERHOUDING

De maat is genomen zonder het strijken v.h.
proeflapje.

In ribbelsteek, breinaalden nr. 6

10x10 cm = 15 st. en 21 naalden.

UITVOERING
8 St. opz. Brei ribbelsteek en meerder op het

rechter uiteinde, op het einde van elke naald aan de
verkeerde kant v.h. werk: 72 maal 1 st. (= helft van
een bol garen). Er zijn hierna 80 st.

Vervolgens, minder bij het begin van elke naald aan
de goede kant v.h. werk: 72 maal 1 st. Er zijn hierna
8 st.

Alle st. afk.

E= SCHULTERTUCH VELOUR DEGRADE

MATERIAL .
VELOUR DEGRADE: 1 Knéauel

StrickndIn.: Nr. 6

Muster

Kraus re.: Alle M. und alle R. re. str.

Zunahme: In 1 M. 2 M. arbeiten (= 1 M. re., ohne
die M. von der linken Ndl. abzustr., die rechte NdlI.
wieder in dieselbe M. einstechen, jedoch von hinten,
und beide M. re. abstr.)

Abnahme: 2 M. re. zusammenstr.

MASCHENPROBE

Die Maf3e beziehen sich auf die nicht libergebiigelte
Maschenprobe.

Kraus re., NdIn. Nr. 6

10x10 cm = 15 M. und 21 R.

ANLEITUNG

8 M. anschlagen. Kraus re. str., dabei am rechten
Rand, am Ende jeder Ruckr., 72 mal 1 M. zunehmen
(= Halfte des Knauels). Das ergibt 80 M.

Danach am Anfang jeder Hinr. 72 mal 1 M.
abnehmen. Es bleiben 8 M.

Alle M. abketten.

I | SCIALLETTO VELOUR DEGRADE

MATERIALI .
VELOUR DEGRADE: 1 gomitolo

Ferri: 6 mm

Punti

Legaccio: tutte le m. e tutti i f. a dir.

Aumento: lavorare 2 m. in 1 m. (= 1 dir., senza
lasciar cadere la m. dal f. lavorare 1 dir. ritorto).
Diminuzione: 2 m. ass. a dir.

TENSIONE
Non eseguire il bloccaggio del campione prima della

misurazione.
Con i ferri da 6 mm, a Legaccio:
10x10 cm =15 m. x 21 f.

REALIZZAZIONE

Avviare 8 m. Lavorare a legaccio, aumentando sul
lato destro, alla fine di ogni f. sul rov. del lavoro: 72
volte 1 m. (= meta del gomitolo). Totale: 80 m.
Cont. diminuendo all’inizio di ogni f. sul dir. del
lavoro: 72 volte 1 m. Totale: 8 m.

Chiudere tutte le m.

140 cm.

Abreviaturas / Abréviations / Abbreviations /
Afkortingen / Abkiirzungen / Abbreviazioni

cm = centimetros / centimeétres / centimeters /
centimeters / Zentimeter / centimetri

p. = puntos / mailles / stitches / steken /
Maschen / punti
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